S12  (mod 2)

blocks | defect | matrix
2.G : 1 11 81 x 11
2 5 15 x 3

3 2 4 x1




Block 1:

$1,0

©2,0

3+ ¥5,0

©6,0

P+ $9,0

©11,0

$12,0

$13,0

P1a+

11 =x1,0

la =x11

111 = x2,0
115 = x2.1
541 = X3,0
542 = X371
991 = X4,0
992 = X4,1
1321 = x50
1325 = x5.1
1541 = x6,0
1542 = x6,1
1651 = x7,0
1652 = x7,1
2751 = Xs,0
2752 = X8,1
2971 = Xx9,0
2972 = x9,1
3301 = x11,0
3302 = x11,1
4621 = x12,0
4629 = x12,1
4623 = x13,0
4624 = X131
6161 = x14,0
6162 = x14,1
8911 = X15,0
8912 = X151
9451 = Xx16,0
9452 = Xx16,1
21001 = x17+
11551 = x19,0
11552 = X191
13201 = x20,0
13202 = X201
26401 = xa1+
14851 = x24,0
14852 = X24,1
16501 = x25,0
16502 = x25,1
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(Block 1:) | 910 $20 @3+ ®50 P60 P71+ 90 110 P120 P30 Plat
19251 = x27,0 3 1 1 1 1 1 1
19252 = X27,1 3 1 1 . 1 1 . 1 1
19253 = X28,0 3 2 1 1 2 1 1 1
19254 = x28.1 3 2 1 1 2 1 1 . 1
20791 = X29,0 3 2 1 1 2 1 1 1
20792 = X291 3 2 1 1 2 1 1 1
23761 = X31,0 4 2 2 1 3 2 1 1
23762 = X31,1 4 2 2 1 3 . 2 . 1 1
26731 = X32,0 3 1 1 1 1 1 1 1 1 1
26732 = X32,1 3 1 1 1 1 1 1 1 1 1 .
29702 = X33,1 2 4 . 1 1 . . 1 . . 1
30801 = X34,0 4 2 2 1 3 1 2 1 1 1
30802 = X34,1 4 2 2 1 3 1 2 1 1 1
35641 = X36,0 6 2 1 2 2 1 2 1 2 1
35642 = X36,1 6 2 1 2 2 1 2 1 2 1
36961 = X370 6 2 2 2 3 1 2 1 2 1
36962 = X37,1 6 2 2 2 3 1 2 1 2 1 .
77001 = X38+ 8 6 3 2 4 1 2 2 2 2 1
41581 = 40,0 2 5 1 1 2 1 1 1
41582 = x40,1 2 5 1 1 2 . 1 1 1
44551 = x41,0 3 5 2 1 3 1 1 1 1
44552 = X41,1 3 5 2 1 3 . 1 1 . 1 1
57751 = X43,0 5 5 2 2 3 1 1 2 1 1 1
57752 = X43,1 5 5 2 2 3 1 1 2 1 1 1
321 = Xa4,0 1
322 = X441 1 .
3203 = X454+ 1 1 .
14083 = X47+ . 2 . 2 .
17601 = X51,0 4 1 2 2
17602 = X51,1 4 . 1 2 . 2 .
35203 = X2+ . . 1 . 1 . 2 . 1
35204 = X544+ 4 4 4 . 6 4 . 2 .
42241 = x574+ 8 8 1 4 4 2 2 1
52801 = X59+ . 8 2 4 . . 2
56001 = X62,0 4 4 2 2 2 2 1
56002 = X62,1 4 4 2 . 2 . . 2 . 2 1
73921 = X64,0 12 4 4 4 6 2 4 2 4 2
73929 = X64,1 12 4 4 4 6 2 4 2 4 2 .
77761 = X65,0 8 8 2 4 4 1 2 2 2 2 1




(Block 1:) ©1,0 ¥2,0 Y3+ P50 ¥6,0 Pr+ ¥9,0 Pi1,0 12,0 $13,0 P14+
77762 = X651 8 8 2 4 4 1 2 2 2 2 1
= 1
©1,0 - 1 voo = 164
w20 = 10¢ B
B p11,0 = 4161
w3+ = 32 _
- u P20 = 570;
¥5,0 1
o (p1370 = 10461
o0 = 100, Py = 2368
o = 288 14+ 1
Block 2: | 100 ®i16,0 ®i7.0
3201 = Xl0,0 1
3202 = X10,1 1 .
14081 = X23,0 1
14082 = X23,1 . 1
17281 = x26,0 1 1
17289 = 1 1 .
2 _ X26,1 p100 = 3201
21121 = 30,0 1 1
— van p160 = 1408y
21122 = X30,1 1 . 1 - 1792
35201 = X35,0 1 1 1 prro = !
35202 = x35,1 1 1 1
28161 = X49+ 2 .
17921 = X56,0 1
17929 = xs56.1 . 1
38401 = X61,0 2 1 1
38402 = x61,1 2 1 1
Block 3: ©18,0
56321 = X4270 1
56322 = X421 1 Y180 = 9632
96323 = X63,0 1
56324 = X63,1 1




